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2. (@ ELEIJEH ) Lox © %x‘ﬁ

23. (a) 2sin”'x (b) Ltan”'x (© itan™'(2x)
4 @ -pds (1) ® 12+k2" © 7" ~Inj
25. j(x+1)abc=§+x+c 26. [(5-6x)dv=5x=3x>+C

27. j(332+%)dr=r3+§-+c 28. J'(%+4r3)dr=%+r4+c

29. j(2x3-5x+7)dx=-21-x4-§x2+7x+c 30. j(l—x2—3x5)cbc=x—-1§x3—-;-x6+c
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35. I(‘E’f%)‘b&J'(xm+x”3)dx=—x-?—z+£+c=%x3’2 +%x‘”3+C
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37. I(Sy—yl%)dy='[(gy_2y ”4)dy=%—-2[y—-—J+C=4y _%y +C
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_{(%_#de=j(%—y#y4)dy=%y-—(ﬁ]+ C=%+17+C
39, jzx(l-x‘3) dx = j’(zx—zx‘2 ) dx =2—§i—2(5_-1l)+(,'=x2 +24C
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41, ol g f(#Jf#]dt = (V24 Y= ¥+[¥]+C= 2i-F+cC
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42. I“}—;‘Q dt = J’(;iﬁg)dr = _[(4;'3 +r'5’2)dt = 4(5__72)+[#}+C :-%—-#+C

43. [-2cost di = -2sint+C 44. [-5sint dr =5cost+C

45. [7sin2d6=-21cos§+C 46. [3cos 50d6 =2sin56+C

47. I—3csc2xdx=3ootx+C 48. I—%ldx=—hﬁ3i+c

49. [esedootl g =—Lescd+C 50. [ZsecOtan6d6 =Zsecd+C

51. J‘(e”t +5¢ 7 )dx z%—sﬂ +C 52. [(2e" -3¢ )iy = 2¢° +%e‘2’ +C
53. [ +4%)dx=—e "+ 4 C sa. [a3yan=0354c

55. j(4secxta.nx—2sec2 x)dx=4secx-2tanx+C

56. J%(csc2 x—cscxcotx) dx= —%cot x +%cscx +C

57. [(sin2x—csc® x) dx =—Lcos2x +cotx+C 58. [(2c0s2x—3sin3x) dx = sin2x+ cos3x+C
59. _f“—c‘zlﬂdtzj(%wu-;—cosm)dt=%t+%(5—";ﬂ)+c=%+§i-‘-’§4—’+c

60. Il;cgs—ﬁfdz=J‘(l2-%cosﬁr)d:=%r—%(si%6']+c=§—s—‘?§+c

61. j(%—xzsﬁ)dx:In|x|—5tan_lx+C 62. j(ﬁ—;b—‘]dy:2sin_1y—%y3”4+c
63. jsxﬁ&:h{il]Jrc 64. Ix(ﬁ—l)cﬁ':%-l-C

65. j(1+1an29) d9=j’sec29da=tana+c
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: j(2+tan2 ) dﬁ:j(1+1+tan29) d9=j(1+sec2 ) d6 =6 +tanf+C
67. Icotzx dx = j(csc2 x=1)de=-cotx—x+C

68. [(1-cot’ x) dx = [ (ese® x-1)) ax = [(2-csc? x) dx =2x+cotx+C

69. [cos6(tan@+sech) db = [(sing+1) d = —cosf+8+C
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70. [_sl da:j(cs—;;_—gﬁ)(gg—g) de= J‘I—silnzﬂ ar9=jm:19 df = [sec’0df=tan+C

(7x--2) 4(7x—2) (7) _ 3
71. d.r[ 7R +C] —55 =(Tx-2)

7. [ (3x+5) ! +C] _[_@EJ:(}J:+S)_2
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73. (%tan(f’x 1)+C)=-§(sec (5x-1))(5) =sec (5x )

-Seor{igt) €)= 5{-exc () (3) - o (5)
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76. z;(m"c)- =
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75, L(Zh+C)=(-DEDE+D =

= (x +1>Z (+)? (o)’
7. %(in]x+l|+C) =';ij 78. %(xex - +C)=x-e" +(1)-e* —&* =xe*
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81. If y=Inx—Lln(1+x?)-2% . C then
y 2 X

dy = %_L_(lvxz . dx:(-l?__x___ 1 +1an .\’de x(1+x?)— —x+{tan” 1)(]+r)dx lﬂnlxck.

x(l+x?) 2(1+x?)

which verifies the formula

82. If y = x(sin~! x)? = 2x+2V1-x* sin™ x+C, then

1-x

s o1 .3, 2x(sin' x) 2y -l 2( 1 i AT s i ’
dy =| (sin 1Jc) + -2+ sin” x+2Vl—-x ( dx = (sin”' x)“dx, which verifics the
J 2 Jl—x2 Vi-x?

formula
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83. (a) Wrong: d—(-Tsmx+C]-Tsmx+-2—cosx xsmx+J'f2 cosx # xsinx

(b) Wrong: -&;(—xcosx+C) =—Cosx+xsin x # xsinx

(c) Right: -j;(—xcosx+sinx+ C) =—cosx+xsinx +cosx =Xxsinx

84. (a) Wrong: dg(m ‘9+C) 35“ 3sec’ @ (sec tan §) = sec” @tan 6 # tan Hsec” 6

3
(b) Right: jo( tan 9+c) ‘(2tan9)sec 6 = tan@sec’ @
(¢) Right: dg( sec 9+C) L(2sech)sect tan8 = tan Osec’ 0
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